5.

Blood Relation

DIRECTIONS (Qs. 1-5) : Read the following information
carefully and answer the questions which follow:

(SBI Clerk 2010)

If'A * Z' means 'A is the wife of Z.
If'A x Z' means 'A is the husband of Z.
If'A +Z' means'A is the sister of Z' .
If'A — Z' means 'A is the brother of Z'.
If'A>Z'means 'A is the son of Z'.
If'A <Z' means 'A is the daughter of Z'.
1. Which of the following relations will not be true if the
expression 'A <P x T+ F>L x M'is definitely true?
(@) Aisthe daughter of T
(b) F isthe son of M
(¢) Pistheson-in-law of L
(d) A isthe cousin of F
() M isthe grandmother of A
2. Which of the following means N is the daughter-in-law of A?
@ M+N*P>A (b) N<MxP+A
(c) M-NxP<A (d A<P+NxM
() A<N<P*M
3. HowisPrelatedtoFif'QxP<B+F'?
(a) Daughter (b) Niece
(¢) Daughter-in-law (d) Grand daughter
(e) Aunt
4. Which of the following means P is the father of R ?
(@ R>S<P*J (b) J+R-S<P
(¢) R>S*P-]J (d) S+JxR<P
(e) None of these
5. Howis Mrelatedto Bif'A * B>Z xS+ M'?
(a) Aunt (b) Grandfather
(¢) Uncle (d) Cousin
(¢) Cannot be determined
6.  Pointingtoa girl, Mr. Arun said. “She is the daughter of my
mother’s only child”. How is the girl related to Mr. Arun ?

(SBI Clerk 2011)
(a) Sister (b) Mother
(¢) Cousin (d) Daughter

(¢) Cannot be determined

DIRECTIONS (Qs. 7-11) : Read the following information
carefully and answer the questions which follow:

(SBI Clerk 2011)

If ‘P*Q’ means ‘P is the mother of Q’.
If ‘P x Q” means ‘P is the father of Q’.
If ‘P + Q’ means ‘P is the sister of Q.
If ‘P — Q’ means ‘P is the brother of Q’.
If ‘P> Q’ means ‘P is the son of Q’.

If’P < Q’means ‘P is the daughter of Q.

7. Intheexpression ‘Ax B+R>S"howis Srelated to A ?
(a) Daughter-in-law
(b) Daughter
(c) Wife
(d) Sister
(¢) Cannot be determined
8 Intheexpression ‘P+Q>A—B’howisPrelated toB ?
(a) Daughter (b) Son
(¢c) Niece (d) Nephew
(¢) Cannot be determined
9. Intheexpression ‘W>X<Y % Z” how is Wrelated to Z ?
(@) Nephew (b) Uncle
(¢) Son (d) Brother-in-law
(¢) None of these
10. Which of'the following means P is the father of S ?
(@ PxQ<R*S (b) RxP<Q-S
(¢) R+S>Q+P d S+Q-Rx*xP
(¢) Cannot be determined
11.  Which of the following means D is the aunt of C ?
(@ D>B*xAXC (b) D+B-Cx A
(¢ D-B-AxC (d D+Bx AxC
(¢) None of these
12.  Read the following information carefully and answer the
question which follows: (SBI PO 2011)
‘A x B’ means ‘A is the father of B’.
‘A + B’ means ‘A is the daughter of B’.
‘A +B’ means ‘A is the son of B’.
‘A—B’ means ‘A is the sister of B’.
What will come in place of question mark to establish that
P is the son-in-law of S in the following expression?

PxQ+R-T?S
@ + (b) x
© - @ =+

(e) Either+or+

DIRECTIONS (Qs. 13-14) : Study the following information
carefully to answer the given questions :

‘P+Q’ means ‘Pisthesister of Q°.  (RBI Assistant PO 2013)
‘P @ Q’ means ‘P is the wife of Q’.
‘P $ Q’ means ‘P is the son of Q.
‘P % Q’ means ‘P is the mother of Q’.
13.  What is the relation between ‘J and A’ in the expression
‘A@F$SM%J+T?
(a) Jisthe mother-in-law of A
(b) Aistheaunt ofJ
(c) Jisthe sister-in-law of A
(d) A is the husband of J
(¢) None of these




14, What will come in the place of question-mark, ifit is provided
that ‘J is the daughter-in-law of T in the expression ‘J % B

72K$T?
@ @ (b %
() + d $
() %or+

DIRECTIONS (Qs. 15-16) : Read the following information
and answer the questions that follow:

(IBPS RRB 2013)
@  “SxT’ means ‘Sisthe brother of T.
@) ‘S +T’ means ‘T is the father of S.
@ii)) ‘S+T’ means ‘Sis the sister of T.
(iv) ‘S—T’ means ‘S is the mother of T.
15. Which of the following means R is the paternal uncle of B?
@ BxQ+LxR @) BxD=+JxRxK
(i) RxP+SxB
(@ Only()
(¢) Only(iii)
(e) None of these
16.  Which of the following statement(s) is/are superfluous to
answer the above question ?
(a) (i) only (b) (ii) only
(c) (iii) only (d) Only(iii) and (iv)
(e) None of these
17.  Pointing to a boy, Meena said “He is the only grandson of
my grandfather”. How is the boy related to Meena ?
(IBPS RRB -2013)
(b) Cousin
(d) Data inadequate

(b) Only(ii)
(d) Both (i) and (ii)

(a) Brother

(¢) Uncle

(e) None of these
18. ‘A +B’means ‘A is the son of B’, ‘A —B’ means ‘A is the

wife of B’. ‘A x B’ means ‘A is the brother of B’, ‘A + B’

means ‘A is the mother of B’, ‘A =B’ means ‘A is the sister

of B’. Which of'the following represents P is the maternal-

uncle of Q? (IBPS SO 2014)
(@ RxP=+Q (b) PxR=+Q
() P+R+Q (d P+RxQ

(e) None of these

(@) M s the brother-in-law of Q
(b) Mis theuncle of Q

(¢) Misthe son-in-law of Q

(d) Qisthe mother-in-law of M
(¢) None of these

DIRECTIONS (Qs. 21-23) : Read the following informations
carefully to answer the questions given below.

(1) ‘A+B’means ‘Aisthe father of B’. (IBPS RRB 2014)
(i) ‘A —B’means ‘Aisthe wife of B’.
(ii)) ‘A x B’ means ‘A is the brother of B.
(iv) ‘A +B’means ‘A is the daughter of B’.
21. IfP+R+S+Q, which of the following is true?
(a) Pisthe daughter of Q (b) Qistheaunt of P
(¢) Pistheaunt ofQ (d) Pisthe mother of Q
(¢) None of these
22. IfP-R+Q, which of the following statements is true?
(@) Pisthe motherofQ (b) Qisthe daughter of P
(¢) Pistheaunt ofQ (d) Pisthesister of Q
(¢) None of these
23, IfP x R +Q, which of the following is true?
(a) PistheuncleofQ (b) Pisthe father of Q
(¢) Pisthe brother of Q (d) Pis the son of Q
(¢) None of these

DIRECTIONS (Qs. 24-25) : Study the information given below
and answer the questions following it:

(SBI Clerk 2014)

Mohan is son of Arun’s father’s sister. Prakash is son of Reva,
who is mother of Vikash and grandmother of Arun. Pranab is
father of Neela and grandfather of Mohan. Reva is wife of Pranab.
24. How is Mohan related to Reva ?

(a) Grandson (b) Son

(¢) Nephew (d) Data inadaequate

(¢) None of these
25.  How is Vikash’s wife related to Neela ?

(a) Sister (b) Niece

(c) Sister-in-law (d) Data inadaequate

(¢) None of these

DIRECTIONS (Qs. 19-20) : Read the following information
carefully and answer the questions which follow.

DIRECTIONS (Qs. 26-27) : Read the following information to
answer these questions.

(IBPS 2014)

(1) If°‘A xB’means ‘A isthe son of B’.

(i) If°‘A+ B’ means ‘A is the father of B’.

@ii)) If°A>B’ means ‘A is the daughter of B’.

(iv) If‘A <B’means ‘A is the wife of B’.

19.  Which of the following pairs of people represent first
cousins with regard to the relations given in the
expressions, if it is provided that A is the sister of J:
‘L>V<J+Pand‘SxA<D+F<E+K’

(@ Lp (b) SP
(¢ SK (d) SF
(¢) Cannot be determined

20. If'B x C'means 'Bis the daughter of C', 'B+ C' means ‘B is
the husband of C' and 'B — C' means 'B is the sister of C'
then what does'M + N —P x Q' mean ?

(CORPORATION SO 2014)

(SBI Clerk 2014)

A family consists of six members P, Q, R, X, Y and Z. Q is the son
of R but R is not the mother of Q. P and R are a married couple. Y
is the brother of R. X is the daughter of P. Z is the brother of P.
26. Whois the brother-in-law of R ?

(@ P b) 2

© Y d X

(¢) None of these
27. Howmany female members are there in the family ?

(@) One (b) Two

(¢) Three (d) Four

(¢) None of these
28.  Which of these is a pair of borthers ?

(@ PandX (b) PandZ

(¢) Qand X (d) RandY

(¢) None of these



DIRECTIONS (Qs. 29-30) : Following question are based on
the information given below

(IBPS SO 2015)
@i ‘PxQ’means ‘Pisthe brother of Q’.
@) ‘P +Q’means ‘Pis thesister of Q’.
@ii)) ‘P+Q’ means ‘P is the father of Q’.
(iv) ‘P—Q’ means ‘P is the mother of Q’.
29.  Which of the following represents ‘M is nephew of N’?
(a N-K+M (b) NxK+M=+T
(¢) N+KxM (d N+K+MxT
(e) None of these
30. Howis T related to D in the expression: H+ T +R—D?
(@) Nephew (b) Niece
(¢) Nephew or Niece (d) Data inadequate
(e) None of these

DIRECTIONS (Qs. 31-33) : Read the following information
carefully and answer the questions which follow :

(IBPS RRB 2015)

Pis son of Q. Q is mother of R. R is wife of T. T is father of V. V is

brother of W. Y is mother of T.

31.  Which of the following is true based upon the relationships
given above ?

(@) W is grand-daughter of Y
(b) Rissister of P
(¢) VissonofQ
(d) Visbrother-in-law of Y
(e) None is true
32. Howis Trelatedto P ?
(@ Son-in-law
(c) Father-in-law
(e) Cannot be determined

33.  Which of the following is/are required to establish that W
is the daughter of R ?

(a) Noextrainformation isrequired as the relation can be
established from the given information

(b) Rhas only three children, one son and two daughters

(¢) Q has only the grandson

(d) Y has only two children, a son and a daughter

(e) Either (b)or (c)

34. Pointing to a photograph Shubha said, "he is the only
grandson of my mother's father". How is the man in
photograph related to Shuhha? (IBPS PO Prelim 2015)
(@) Cousin (b) Brother
(¢) Uncle (d) Cannot be determined
(¢) None of these

DIRECTIONS (Qs. 35-39): Read the following information
carefully and answer the questions given below it:

(SBI PO Prelim 2015)

In a family, there are six members A, B, C, D, E and F. A and B are
married couple, A being the male member. D is the only son of C,
who is the brother of A. E is the sister of D. B is the daughter-in-
law of F, whose husband has died.
35. How isF relatedto A?

(@) Mother

(¢) Sister

(¢) None of these

(b) Brother
(d) Brother-in-law

(b) Sister-in-law
(d) Mother-in-low

36. HowisE related to C?
(@) Sister (b) Daughter (¢) Cousin (d) Aunt

() Mother

37. Whois C toB?
(a) Brother (b) Brother-in-law
(¢) Nephew (d) Son-in-law

() None of these

38. Howmanymale members are there in the family?
(@ One (b) Two (¢) Three (d) Four
(e) Five

39. How is F related to C?
(a) Mother-in-law
(¢) Mother
(e) Sister

DIRECTIONS (Qs. 40—43): Read the following information
carefully to answer the question:

(SBI Bank PO Main 2015)

(b) Sister-in-law
(d) Aunt

P x Q means “P is sister of Q”
P+ Q means “P is mother of Q”
P+ Qmeans “P is brother of Q”
P —Q means “P is father of Q”
40. Which of the following represent W is grandfather of H?
(@ W+T-H (b) W+T-H
(c) WxT+H d W=+T+H
() None of these
41.  Which of the following represent “M is nephew of R™?
(@ M=+T-R (b) R+T-M
(¢ RxT=+=Mx] d R+T-M+]J]
() None of these
42. How TisrelatedtoS “W+T-H+V-S"?
(a) sister (b) mother (c) aunt (d) uncle
(¢) None of these
43. Theexpression means “S+T-Hx V-N”?
(@ Sisgrandmother of N
(b) Sisgreat grandmother of N
(¢) Sismother of V
(d) Nisgrand son of S
() None of these

DIRECTIONS (Qs. 44-47) : Read the following information
carefully and answer the questions which follow:

(IBPS RRB 2015)

If'A x B'means 'Ais son of B'.

If'A + B' means 'A is daughter of B'.

If'A + B'means 'A is wife of B'.

If'A — B'means 'A is father of B'.

44.  What will come in place of the question mark, to establish
that Q is mother of N in the following expression?
'N+O0-P?7Q'

@@ + (b) x © - @ -
(e) Either(a) or(b)

45.  Which of the following relations are true based upon the
relations given in the equation:
S+TxV-W+Y'?

(@ TisbrotherofY.

(b) Sisdaughter-in-law of W.
(¢) Sisdaughter-in-lawof Y.
(d) Y isdaughterof V.

() Noneis true



46. A isthe brother of B. B is the sister of T. T is the mother of
P.Ifit is provided that R is the grandfather of P, how would

T be related to R? (IBPS RRB 2015)
(@) Daughter (b) Granddaughter
(c) Sister (d) Wwife

(e) Either Daughter or Daughter-in-law

47. Kis brother of T. M is mother of K. W is brother of M. How
is W related to T? (IBPS Clerk 2015)
(a) Maternal Uncle (b) Paternal Uncle
(¢) Grandfather (d) Data Inadequate
(¢) None of these

DIRECTIONS (Qs. 48-49) : Read the following information
carefully to answer the following questions

(IBPS Clerk 2015)

A * Bmeans A is the sister of B

A + B means A is the brother of B

A+ B means A is the father of B

A—Bmeans A is the mother of B

48.  Whatis therelation between Qand S in ‘P+Q +R-S§’
(@) Qistheaunt of S (b) Qistheuncleof S
(¢) Qisthemother of S (d) Q isthe father of S
(¢) None of these

49.  What is the relation between T and Q in ‘P*Q=R+S*T’
(a) TisthenieceofQ (b) TisthesonofQ
(¢c) Tisthenephew ofQ (d) Either (a)or(c)
(¢) None of these

DIRECTIONS (Qs. 50-52): Study the following information
carefully to answer the given questions

(SBI Clerk 2016)
'P x Q' means 'P is son of Q'.
'P + Q' means 'P is daughter of Q'.
'P + Q' means 'P is wife of Q'.
'P — Q' means 'Pis father of Q'.
50. Intheexpression 'K +H—P?Q', what will come in place of?
if Q is mother of K?
(@ + (b - (© -
(e) None of these
51.  Which of the following relation is true with regard to
expression' B+PxZ-K+0'?
(a) Pisbrother ofO
(b) Bis daughter-in-law of K
(¢) Bisdaughter-in-law of O
(d) Ois daughter of Z
(e) None of these
52. Ifitis provided that M is grandmother of P, then what will
come in place of ? in expression —'P—H+ T ? M"?
@@ + (b - (© - (@ x
(e) None of these
DIRECTIONS (Qs. 53-55): Study the following information
and answer the given questions.

(d x

54.  As per the given information, how is R related to Y?

(@ Nephew (b) Cannot be determined
(¢) Uncle (d) Niece
() Aunt

55. IfLis the sister of B, then how is B related to J?
(a) ster-in-law (b) Cannot be determined
(¢) Brother (d) Brother-in-law
(¢) Uncle

DIRECTIONS (Qs. 56-58) : Read the following information and
answer the questions which follow:

'P+ Q' means 'P is son of Q'.
'P x Q' means 'P is sister of Q'.
'P + Q' means 'P is brother of Q'.
'P — Q' means 'P is mother of Q'.
56. Howis T related to S in the expression T x R+ V +S?
(a) Sister (b) Mother
(c) Aunt (d) Uncle
(¢) None of these
57. Howis T related to S in the expression T x R +V —S?
(a) Father (b) Sister
(¢) Daughter (d) Aunt
(¢) None of these
58 Howis Srelated to T in the expression T+ R -V + S?
(@ Uncle (b) Nephew
(¢) Son (d) Can't be determined
(¢) None of these

DIRECTIONS (Qs. 59-61): Read the following information
carefully to answer the following questions

'P # Q' means 'P is the daughter of Q'  (SBI PO Pre 2016)
'P © Q' means 'Q is the brother of P'
'P =Q' means 'Q is the sister of P'
'P & Q' means P is the son of Q'
'P * Q' means 'P is the father of Q'
'P @ Q' means 'P is the mother of Q'
59. What does the expression'P @ R=SO T & V"?
(a) V isthe husband of P (b) Risthe son of V
(¢) Risthe daughterof V. (d) Visthe wife of P
(e) None of these
60. Which of the following indicates that 'C is the paternal uncle
of D'?
@ C&V#N@LOD
(c) D&L&N@VOC
(e) None of these
61. Which of'the following can be the correct conclusion drawn
from the expression
'L=M#NOP*Q"?
(a) Qisthe grandsonof M (b) ListheuncleofN
(¢) NistheuncleofQ (d) Qistheniece of N
(e) None of these

(IBPS Clerk Prelim 2016)

(b) C&V&L@NOD
(d D&N#V@LOC

(IBPS SO 2016)
Y is the sister of J. L is the wife of J. L has only one son R. K is
the mother of L. K is married to D. D has only one son and only
one daughter.
53.  As per the given information, how is J related to K?
(@ Son (b) Son-in-law (c) Niece (d) Nephew
() Daughter-in-law

DIRECTIONS(Qs. 62-64) : Read the information carefully and
answer the questions that follows:

'P x Q' means 'P is son of Q'. (IBPS PO Pre 2016)
'P + Q' means 'P is daughter of Q'.

'P + Q' means 'P is wife of Q'.

'P — Q' means 'Pis father of Q'.



62. Inthe expression 'K +H-P ? Q', what will come in place

of 71if Q is mother of K?
@@ + b -
(¢ - (d x

(¢) None of these
63.  Which of the following relation is true with regard to
expression' B+PxZ-K+0'?
(a) Pisbrother ofO
(b) Bis daughter-in-law of K
(¢) Bisdaughter-in-law of O
(e) Ois daughter of Z
(¢) None of these
64.  Which of the following pairs represent the first cousins
in the expressions -'L+V-J—-P'and'SxA-D+F-E+

K

ifit is given that A is the sister of J?
(@ LP (b) SP
() SK (d) SF

(e) Cannot be determined

DIRECTIONS (Qs. 65-67) : Read the following information
carefully and answer the questions given below :

A-BmeansA is wife of B (SBI Clerk Mains 2016)
A +Bmeans Ais brother of B
A+ B means A is daughter of B
A x Bmeans A is son of B
65. How is Arelated to D in the given expression ?
A+B-CxD
(a) Grandson
(c) Daughter
(e) None of the above
66. Which of the following symbol will come in place of ? to
make the expression Q is daughter-in-law of T true ?

(b) Granddaughter
(d) Mother

P+Q-R?S-T
(@ x ) +
© - @ -

(e) None of the above
67. In which of the following expressions N is the father of M?
@ MxN=+O-P (b) N-OxP+M
(¢) P+OxM-N d P-M+=N=+O
(e) None of the above

DIRECTIONS (Qs. 68-71) : Read the following information
carefully and answer the questions given below :

(IBPS Clerk Mains 2016)
In a family there are 6 members P, Q, R, X, Y and Z. R is the sister
of Z. X is the father of P and grandfather of Z. Q is the brother of
Y's husband. There are three brothers, one mother and two

fathers.
68. Who is the mother of R?
@@ Q b z
© Y d X
(¢) None of these
69. Who is Y's husband ?
@@ Q (b) P
© X (d) Can't be determined

(¢) None of these

70. How many females are there in the family?

(@ One (b) two (c) three

(¢) None of these
71.  Which of the following is the group of brothers ?

(@ PQZ (b) PRZ () XZP (d) QRZ

(¢) None of these
DIRECTIONS (Qs. 72-73): Read the following information
carefully to answer the given questions.

(IBPS PO Prelim 2017)

D is the sister of E. A is the father of D. F is the son of E. C is the

maternal grandfather of V. A does not have married daughter.
72.  How is D related to F?

(d) four

(@ Uncle (b) Aunt
(¢) Mother (d) Can’tbe determined
() Nephew

73. IfBis married to E, then how is Brelated to A?
(a) Grandson (b) Son-in-law
(¢) Son (d) Daughter-in-law
(e) Can’tbe determined
74. 1f'A$ B'means'A is father of B','A #B' means 'A is daughter
of B', 'A @ B' means 'A is sister of B', then how is K related

toMinH@K$L#M? (IBPS PO Mains 2017)
(@) Husband (b) Uncle
(c) Father (d) Cannot be determined

(¢) None of these

75. If'P$ Q', means'Pis father of Q'; 'P # Q' means 'P is mother
of Q'; 'P * Q' means 'P is sister of Q', then how is D related
toNinN#A$B*D? (IBPS PO Mains 2017)
(@) Nephew (b) Grandson
(¢) Granddaughter (d) Cannot be determined
(¢) None of these

DIRECTIONS (Qs. 76-78): Study the following information
carefully and answer the given questions:

(IBPS RRB PO Pre 2018)
X is the husband of U. R is the mother-in-law of U. N is the Father
of X. S is the mother of N, T is the mother of R and O.
76. If Z is the father of N then how is Z related to S?

(a) Mother (b) Father
(c) Sister (d) Brother
(¢) Husband

71. How is T related to X?
(a) Grandfather (b) Aunt

(¢) Mother (d) Grandmother
(e) Wife
78. How is O related to N?
(a) Sister (b) Brother
(¢) Husband (d) Can’tbe determine
(e) Wife

DIRECTION (Q. 79): In the following questions, the symbols #,
&, @, *, $, % and © are used with the given meanings as
illustrated below. Study the following information and answer
the given questions:

(IBPS PO Mains 2018)
A person saves 15 biscuit and rest gives to his wife. A mother
saves 45 biscuit and gives rest to his son. A person saves 25
biscuit and gives rest to his sister.



C@D- C is the child of D.
COD- C is the parent of D
C$D- C is brother of D
C*D- Cis wifeof D
C#D- C is sister of D
79.  From the above information which of the following relation
1s true
(i) USC*WOSSNH#S If 205 biscuit are given to U then N
receives 105 biscuit.
(i) SH#Z*FOJ#PSJ, If 175 biscuit are given to S then J
receives 70 biscuit.
(i) K*LOO$M#O, If 250 biscuit are given to L then M
receives 165 biscuit.
(a) all(i), (i) and (iii) are true
(b) only (i) and (ii) are true
(c) only (ii) and (iii) are true
(d) only(ii)istrue
(e) only(iii) is true

DIRECTIONS (Qs.80-82): Study the following information
carefully and answer the questions given below.

(IBPS RRB Clerk Mains 2018)
Lekhi is the daughter of Panas. Panas is married to Shalu. Luv is
the brother of Panas. Nayan is the only son of Luv. Niru is the
grandmother of Nayan. Niru has no daughter.
80. How Shalu is related to Nayan?
(@) Uncle (b) Aunt
(¢) Nephew (d) Son-in law
(¢) None of these
81. If Gauri is married to Luv, then how Panas is related to
Gauri?
(a) Brother-in-law
(c) Sister-in-law
(¢) None of these
82. How Lekhi is related to Niru?
(a) Grandson
(¢) Granddaughter
(¢) None of these
83. Afamily consists of five members S, Q, V, Z, X. M is wife of
S. V is the daughter of S. V has only one brother Z. X is
daughter-in-law of M. How is X related to V?
(IBPS RRB Clerk Pre 2018)
(b) sister-in-law
(d) daughter-in-law

(b) Brother
(d) Mother-in-law

(b) Son
(d) Grandmother

(a) mother
(c) daughter
(¢) none of these

DIRECTIONS (Qs. 84-86) : Study the following information
and answer the given questions.

(IBPS PO Prelim-2019)

There are eight members in a family. F is brother of A. D is
daughter of C. A is married to D. F is father of B. His mother of G.
H has only one son and one daughter. G is son of F. E is daughter
of A.
84. How is D related to F?

(a) Brother-in-law

(b) Aunt

(c) Sister

(d) Sister-in-law

(¢) None of these

85. Howis Crelatedto E?
(@) Mother
(¢) Grandfather
(¢) Can't determined
86. If Cis husband of K, then how is A related to K?
(@ Son (b) Daughter
(¢) Son-in-law (d) Daughter-in-law
(¢) Can't determined

DIRECTIONS (Qs. 87-88): Study the following information care-
fully and answer the questions given below it.

"M ~ N" means "M is mother of N".  (IBPS PO Main-2019)
"M# N" means "M is son of N".
"M & N" means "M is father of N".
"M % N" means "M is brother of N".
"M + N" means "M is daughter of N".
"M @ N" means "M is sister of N".
87.  Intheexpression given below how V is related to W?
YANZAX#V, W+T%U&X
(a) Maternal Uncle
(b) Grandmother
(c) Aunty
(d) Mother-in-law
(e) Can't be determined.
88. In the expression given below which of the following
statement is true?
M*Q@G&K; R+D%U; KHL, P@QU&G
(@) Kismaternal aunty of P.
(b) Kis granddaughter of U.
(¢) Lis daughter-in-law of U.
(d) Gisson-in-law of D.
(e) All the given statements are false.

DIRECTIONS (Qs. 89-91): Study the following information
carefully and answer the questions given below:

(IBPS Clerk Prelim-2019)

There are seven members in a family of three generation. Q is
mother of P. Pis brother of R. K is married toR. S is aunt of M. K
is child of T. S is sister of K.
89. If Tis married toJ, then how J isrelated to R?

(a) Grand daughter (b) Grand son

(¢) Son-in-law (d) Daughter-in-law

(e) Can’tbe determined
90. IfQ is married to B, then how B is related to M?

(a) Grand father

(b) Brother-in-law

(¢) Uncle

(d) None of these

(e) Can’tbe determined
91. How Sisrelated to R?

(a) Sister

(c) Aunt

(¢) None of these

DIRECTIONS (Qs. 92-95): Read the information carefully and
answer the following questions:

(b) Uncle
(d) Grandmother

(b) Sister-in-law
(d) Mother-in-law

(SBI PO Prelim-2019)
Jezzis married to Chandni. Bobyand Diya are the children of Chandni.
Diya is married to daughter of Kalpesh, who is married to Mahesh.



Kalpesh is mother of Rahul, who is husband of Nidhi. Himansh is
the grandson of Chandni and Kalpesh. Lily is daughter of Nidhi.
Vijay is only sibling of Himansh. Diya has only one daughter.
92.  How is Diya related to Kalpesh?

(a) Son (b) Wife

(¢) Soninlaw (d) Daughter

(¢) None of these
93. IfTapas is daughter of Kalpesh, then how is Tapas related

to Diya?
(a) Wife (b) Sonin law
(¢) Daughter (d) Husband
(¢) None of these
94. How is Lilyrelated to Kalpesh?
(a) Wife (b) Granddaughter
(¢) Daughter (d) Son
(¢) Grandson
95.  Who is father of Rahul?
(@) Mahesh (b) Diya
(c) Boby (d) Jezz
(¢) Chandni

DIRECTIONS (Qs. 96-98): Study the following information care-
fully and answer the questions which follow—

(SBI Clerk Main-2019)
‘E @ F’ means ‘E is parent of F (either mother or father)’
‘E #F’ means ‘E is sister of F’
‘E $ F’ means ‘F is grandchild of E’
‘E % F’ means ‘E is brother of F’
‘E & F’ means ‘E is the son-in-law of F°
‘E * F’ means ‘E is the wife of F’
‘E © F’ means ‘F is the mother of E’
There are some members in a family having three generation.
The relation between the different members of the family are
defined as follows.
Q@U#T
X&S
V%W*X
R@W
U*V%WOS
TOPSM
RSY
96. 1f M is the only child of V, then how is M related to Q?
(a) Son (b) Grandson
(¢) Daughter (d) Grand daughter
(e) Can’tbe determined
97.  If P has only one son, then how is T related to V?
(a) Son (b) Brother-in-law
(c) Brother (d) Father
(¢) None of these
98. IfM hasnosibling and R has no granddaughter, then how

is Y related to X?
(@) Daughter (b) Wife
(¢) Nephew (d) Son

(¢) Cannot be determined

DIRECTIONS (Qs. 99-100): Study the following information
carefully and answer the questions given below:

(IBPS RRB PO Prelim-2019)

Eight members are living in a family. B is the only son of A. E is
wife of F. E is sister of B and C. G is daughter in law of H. D is son
of E. H is the mother of B.
99. How is D related to C?
(a) Son
(¢) Nephew
(e) Can’tbe determined
100. How many female members are in the family?
(a) Four (b) Five
(¢c) Three (d) S
(¢) None of these
101. There are nine membersina familyi.e. M,N, O, X,Y,Z,1,J,
and Q. There are four females and three married couples. M
is paternal uncle of 1. J has only 2 children. K is daughter-
in-law of N. O is married to N. X and Y are sons of O. Y is
not married. Z is married to J. N is son-in-law of J. Zis a
male member.
How N's sister in law is related to J's brother in law?
(IBPS RRB PO Main-2019)

(b) Daughter
(d) Niece

(@) Niece (b) Nephew
(¢) Son (d) Daughter
(e) Sister

DIRECTIONS (Qs. 102-103): Read the given information
carefully and answer the questions given beside:

(IBPS RRB Clerk Main-2019)

In a family of some members Suraj says that Manu is the daugh-
ter of my sister Riya, who is the only daughter of Tarun. Ajay is
the child of Tarun and Ila, who is the grandmother of Kajal. Rozi
is the mother of Trisha, who is the only sister of Kajal. Ajay is
unmarried.
102. If Maynak is spouse of Riya, how is Rozi related to Mayank?

(a) Sister

(b) Brother-in-law

(c) Wife of Brother-in-law

(d) Cousin

(¢) None of these
103. How Tarun is related to sura;j?

(a) Father (b) Mother

(¢) Daughter (d) Cannot be determined

(¢) None of these

DIRECTIONS (Qs. 104-105): In the following questions, the
symbols #, &, @, * , $, % and © are used with the following
meanings as illustrated below. Study the following information
and answer the given questions:

(IBPS Clerk Main-2020)
A@B- Ais the child of B
A©OB- A is the parent of B
A%B- A is father-in-law of B
A&B- Ais brother-in-law of B
A$B- Ais brother of B
A*B- Ais wife of B
A#B- A is sister-in-law of B
104 fKORS$SU* Q@ W ©X, then how is U related to W?
(a) Father (b) Brother-in-law
(¢) Daughter-in-law (d) Sister
(e) None of these



105. IfA*D$KOH@E % C * H, then how D is related to H?
(a) Father (b) Brother-in-law
(¢) Daughter-in-law (d) Uncle
(¢) None of these

DIRECTIONS (Qs. 106-108): Study the following information
carefully and answer the questions given below:

(RBI Assist Prelim-2020)
There are eight members of three generations are living in a family.
F is grandfather of G who is child of A. B and D are siblings of E
who is only son of F. H is only grandson of F. C is spouse of B
who have only one child. Gis child of D.

106. How many male members are in the family?

107.

108.

(@) Three (b) Four
(c) Five (d) Sx
(e) Can't be determined

How G is related to E?

(a) Daughter (b) Son
(¢) Nephew (d) Niece
(e) Can't be determined

If P is spouse of F, then how P is related to B?
(a) Father (b) Son
() Mother (d) Aunt
(e) Can't be determined

Answers & Explanations

. (d) A<P = A isthedaughter of P.
PxT = Pis the husband of T.
T+F = T is the sister of F.
F>L=FisthesonofL.
L x M = L is the husband of M.
A is the daughter of P and T.
F is the son of the L and M.
T is the daughter of L and M.
Therefore, P is son-in law of L.
A s the niece of F.
M is grandmother of A.

2. (@ M+N=>Misthesister of N.
N * P= N is the wife of P.
P> A= Pisthesonof A.
N is the daughter in-law of A.

3. (b) QxP=Qisthehusband of P.
P <B = Pis daughter of B.
B +F = B s the sister of F.
P is the niece of F.

4. (¢) R>S=RisthesonofS.
S <P = Sis the daughter of P.
P * J = Pis the wife of J.
Therefore, P is the grandmother of R.
J+R = Jisthesister of R.
R - S = R is the brother of S.
S <P = S is the daughter of P.
P is the either father or mother of R.
R>S = Risthesonof S.
S * P= Sisthe wife of P.
Therefore, P is the father of R.

5. (¢ A*B=AisthewifeofB.
B>Z = Bistheson of Z.
Z x S = Z is the husband of S.
S+ M = Sis the sister of M.
The sex of M is not known.
M is maternal uncle or aunt of B.

10.

11.

@

©

©

@)

Mother
l only child

Arun (Himself)

daughter/She

Therefore, the girl is the daughter of Arun.
A x B — A is the father of B.

B x R — B is the sister of R.
R>S — Risthesonof S.
Therefore,

S is the wife of A.

P+ Q — P isthesister of Q.
Q>A—Q isthesonof A.

A —B — Ais the brother of B.
Therefore,

P is the niece of B.

W > X — W is the son of X.

X <Y —> X isthe daughter of Y.
Y * Z — Y is the mother of Z.
Therefore,

W is the nephew of Z.

P x Q — P isthe father of Q.
Q<R — Qisthe daughter of R.
R * S — Ris the mother of S.
Therefore,

P is the father of S.

D> B — Disthe son of B

Dis amale.

D + B — D is the sister of B

B - C — B s the brohter of C
Therefore,

D is the sister of C

D - B — D is the brother of B.
Dis amale.



12.

13.

14.

15.

16.
17.

18.

©

@

(b)

@
@

(b)

D + B — D is the sister of B

B x A — B s the father of A

A x C — Ais the father of C

Therefore,

D isthe grand aunt of C

P x Q means P is a father of Q.

Q+ P means Q is daughter of R

R - T means R is sister of T.

Itis clear that P is husband of R. If he establish that T
is either son or daughter of S, then P would be son-in-
law of S.

T+ Smeans T is daughter of S.

T+ S means T is son of S.

A@F = Aiswife of .

F $ M = Fis son of M.

M % J = M is mother of J.

J+T = Jis the sister of T.

M(—)

v

St

Sister-in-Law

J% B = J is the mother of B
B $ K = B is the son of K.
K$T=KisthesonofT.
Therefore J is daughter-in-law of T.
Options (i)

Le—R

(G2 ?

B<+——Q
+)
The sex of R is not known

Option (ii)
J«—>»R—K
) )
l Paternal uncle
B<+«—D
+)
Option (iii)
S«——B
(Cp)
l —Nephew
Re—P
)
Hence only (ii) follows.

Statements (iii) and (iv) are superfluous because
relationship between S and T is not required anywhere.
The boy is only grandson of Meena’s grandfather.
However, there may be granddaughters of Meena’s
grandfather.

Therefore, the boy is either brother or cousin of
Meena.

So, no sufficient data is there.

Consider option (b),

P x R+ Q, it means that P is the brother of R and R is
the mother of Q. So, P is the maternal uncle of Q.

19. (b)
L >V <] + P
4 |4 |4 | £
Daughter Wife Father o}

S x A<D+ F < E + K

S ST S

4

Son Wife Father Wife

Hence, S and P are first cousins.

M<:‘>N<—>P

(+)

(_

Sol. (21-23) :
Symbol — Relation
+ - Father
- N Wife
X - Brother
+ - Daughter
2. ) RM®
d ™
P(-) S(+)
Aunt
2. (a) P =R
G &
Moth%‘l'
Q
23. (d) Son Q
P<—>R(-)
(+)
Sol. (24-25) : Pranab = Reva
(+) ()
J J J
Neela Prakash Vikash
©) *)
J
Mohan Arun
(+)

24 @ 25 (o

Sol. (26-27) :

Brother Couple Brother

Sni

Rl<—® =/[z]

Son lj' ‘l'Daughter

@+ ®-

Father



26. (b) Zisbrotherin law of R. 35. @ 36 () 37. (b) 38 (¢

27. (b) Two 39. (¢ 40. (e) 41 (o)
28. (d) RandY 42. (e¢) Tis grandfather.
2. (d N+K+MxT 43. (b) Sis great grandmother of N.

O @ 4 @© 0MHeQE)

N «—K /\
N(-)P
T Hence, P is either son or daughter of Q.
Brother 4. (© VHeYE)

/\

OSeTH W)

Hence, M is Nephew of N. 46. (e)
30. (¢) H+T+R-D R(+)
@ |
H A#)—B()—T() &
|
TF ather P
T is daughter —in —law of R.
TG Sister @ &
or
R(+
Mother |( )
gt D A(+)—B()—T(-) &
|
Hence, T is aunt of D. P
Sol. 31-33): Q, 1((_) T is daughter of R.
Pe—> R <> T(s 47. (a) Brother
o Ro l( )
Mother
MG ama K=T
) ) O Brother
31. (b) The sex of W is not given. Hence, W is maternal uncle of T.
R is sister of P. 48 (b) QistheuncleofS
V is grandson of Q.
Vis grandson of Y. n

32. (d) Tisbrother-in-law of P.
33. (b) IfR has one son and two daughters, then W is the

daughter of R. m e

34. (b) Father
Grandson
Motl(leg S
Shubha «—Man 49. (d) Sister Brother

Brother ) @_ Q H r

F .
Sol. (35-39): ) \343“81‘“’““‘1” Father

HC «<——>A——B Sister
{ ) ©) T
D<—>E 50. (e) K daughter of H, H father of P, so K and P siblings,
“+) ) now Q to be mother of K - P must be son or daughter

of Q. so both x and + will come in place of (?).



S

52.

(c) Bwife of P, Pson of Z, Z father of K - soPand K are
siblings, K daughter of O
So Z and O husband wife, P and K brother sister, B is
wife of P
So Bis daughter-in-law of O

(e) P father of H, Hwife of T.
Now, for M to be grandmother of P, there is no relation
given between T and M.

Sol. (53-55) : As per the given information, the relation graph of
family members is shown below

53.
35.
56.

57.

58.

59.
62.

63.

65.
Sol. (68-71) :

68.

<——
YE—p = L

v

+
R

(b) Clearly, J is the son-in-law of K.

(a) Clearly, R is the nephew of Y.

(b) As gender of B is not known, therefore relation of B
with J cannot be determined.

(e) Drawing familytree of the given expression, we have

S

|
T(-)—R(+)— V()
Hence, T is the daughter of S.
(b) Drawing family tree of the given expression, we have
V(-)

T(-)—R(+) S
Hence, T is sister of S
(d) Drawing family tree of the given expression, we have

T(+)—RE)

|
V(H+)—S

@ 60. (c) 6l (e

(e) K daughter of H, H father of P, so K and P siblings,
now Q to be mother of K, P must be son or daughter
of Q. so both x and + are follow.

(¢) B wife of P, P son of Z, Z father of K - so P and K
siblings, K daughter of O So Z and O husband wife, P
and K brother sister, B wife of P So B is daughter-in-
law of O.

(b) J father of P, and S son of A now given that A is the
sister of J.

Now A and J siblings. P is J's child, and S is A's, so
both first cousins.

(b) 66. (a) 67. (a)

a —©
@—z

() 69. (b) 70. (b)

P and Q are brothers and Z is the brother of R

A(H) CH)

D (-—EH=—0)

F)
A() CH)

D (-)—E#H=—7/B()

F(+)
H() K (+) M (-)
L(-)
So, K is husband of M
N ()
A()
B(-) D

Data is not sufficient. So can't be determined.
Sol. (76-78):

S(_) T(—)

R(-) (¢}

Ue)

e 77. (@ 78 (@

U —@lSO

w

135 E]—@ 110



F

105 El—@ 80
(i) 235 @ —| L (250

19 E—@lﬁs

@) 175 @—@150

Sol. (80-83):
Niru

-)

|

Luv — Panas = Shalu

T ) l o)
Nayan Lekhi
h -)
80. (b) Shalu is the Aunt of Nayan
81. (a) Paras is the brother-in-law of Gauri
82. (¢) Lekhi is the grand daughter of Niru
SH) == M(-
8. (b) () =)
V@) — Z(H) = X(-)
Sol. (84-86):
C
H() F#) A(t) D)
B(-) G E(-)
84. () 8. () 8. (¢
Sol. (87-88):
87. (c) Wehave:
YAZAXHV; WAT%U&X
From above given statement we have:
T(#) U V()
Vo X () Y ()
Z(-)

Clearly, Vis aunty of W.
Hence, option c is correct choice.

88.

Sol.

89.
Sol.

98.

(¢) We have:
M"Q@G&K; R+D%U; K#L, P@QU&G;
From above given expression we have:

D (+) P U) =—= M)
R(-H) QE)—GH==LE)
K#)
(89-91):
(_)T T
(H)P<—R——=K—>S(-)
M

(€ 9. (@ 9L (b
(92-95):

v~

Jezz—Chandni

Boby—(Diya| =

‘ | Himanshl

) 9 @ 9% ® 9 (@
*)

© gp—=—a»n R T 56
SIS
T——U T s —EN)—_|7 X(+)

M Y
We can’t be determined that how M related to Q.
()
R =——=8()
Op ——Q(*) |
) ()
T U=—/—V W——=X(+)
(+) ‘ )
M Y
Hence, T is brother-in- law of V.
g)_ S(-)
P ——Q(%) | -
-) ()
T U=—/— W——=X(+)
() -
M Y

Hence. Y is son of X.



Sol.

101.

Sol.

102.
103.

(99-101):

A(+)=—=H(-)

G(-)=—=B(+) C) E(-)=——=F(+)
D(+)

(c) 100. (a)

(a) JH— Z(+) +)

N<+>_O-> 1

K2 X v
N's sister in law is niece of J's brother in law.
(102-103):

[Ma~ Tarun+]

[Rozi { Suraj’ ] Riya~ Ajay }
\2 \2
{ Trisha ~ Kajal } Manu ™~

(¢) Clearly, Rozi is the wife of Suraj who is brother in law

of Maynk.
(a) Tarun is father of suraj.

Sol.
104.

105.

Sol.

106.
107.

108.

(104-105):
(¢) Daughter-in-law

K w
R(*) UH Q(H X
(d) Uncle
A(-) D(*) K(-) E(*)
I_I(*) C(-)

(106-108):
F(+)

AH)=DEO)—EH—BH=—=C*)

G H(+)
(©)
(d) aisnicce of E.
(©) F+H) = P()

AH=DE)—EH—BH=C*)

G() H(+)
P is mother of B.



